
{ftqq firsdq E-s{ rM-flftffiqrm
ilqTlfr

qrfr.H lrlScqfr qftrq qRq@ F'aqq qlqn sftEbK {l-cr{ qv i@frrtR(
furcur{ \o\) qtFK R.e{-fr feffi( {F-q (sv c{frFm) qftsm

qqqrptRf.fffuruftc-

gtR{ <IT c$l{ qs. q:RI

)1.)o.QoQQ cql-T<Er ACCO2111 )).oo-o).oo

a.\.)o.\oqq ffi<T{ STAT 21I1 s

90.)o.qoqq <Rflr CSE 2111 )).oo-o\.oo

o\9.)).\o\\ Ta"{fu{K CSE 2I2I (

oU.)).Q.oQ.Q. Tqq<K CSE 2131 &

)e.)).Q.oQ.\ CqFKK
MATH 2131

MATH 2111 (Session 2018-2019)
&

N
<Tq-;;ef ffiiq-{
s-IR{: o9.)).Q.oQ.Q.

,r r qslq&, cRei? "ifrtt +frtr(tf-l;r+ffibm xrcw es iGffi. frsT{, Kl:frs

8 r q<rs, <<t< !&ffi, s-Flq., ff.,{q. KK 6le, qFaq, <RlF / Eeq,{qqq ftffi. +.cF[q', Ferqqqq
rflE6gl.iqqft-{, dqNl{I, <RT{ C<ls, <Evi|/ "|r{fiQCffi. T-mq', -nq"fl&$, -n"feT flffie flfs, qFlefis]Fi

6ls, 'iK"fi-gvoo/ lco1frflq'T-m6i q< Q&ffi",,, Tr"il3[ cfls, ffi, {ffi|-booo r

crc{I I\- a1-ad (a.a) /csrfi/"isfd:
wfle rs €fcTMfu <r<q1.{qct6 gi-{i q.{frft rqRs qqB-

) r fiq, erfr{n q-$q, <tRs

t r :rq{G, offibr< qTcrq €u Q@ffi frsn, <nRe

c r m-q|45[s[<F, <\13/ <evl/eX-qqT/ffll r

s Isrflq qkq.f$, nsfrs

:ffi;hffi,H
'qlqpq;qff sR- os/))/qoqq ()se) qftmr Rrqq qs{,TrsRs


